DCF 
PV OF EXPECTED FUTURE FREE CASH FLOWS

FCF ….1..2..3……(PROJECTED BS, IS, AND CFS)
DISCOUNTING FACTOR ==
 
PVFCF = FCF1/ (1+R)^1 + FCF2/(1+R)^2 + ………….
VALUE OF THE COMPANY
WACC = KE*WE+KD*WD

HISTORIC WACC
.15*.80 + .10*.20 = 

CAPM = RF + BETA*(RM-RF) = E(R)

PURE RISK – POSSIBILITY OF LOSS – INSURANCE
MARKET RISK – POSSIBILITY OF PROFIT AS WELL AS LOSS –
MARKOWITZ – 
TOTAL RISK – STD DEVIATION OF HISTORICAL PRICES
SHARPE – 
TOTAL RISK = DIVERSIFIABLE RISK + NON-DIVERSIFIABLE RISK
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Enterprise Value = Market Capitalization + Net Debt + Non-Controlling,
Interests + Preferred Securities + Capital Lease Obligations ( + Other
Non-Operating Liabilities).
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Business Comparison |Company A | Company B
Revenue 10, 000.0 10, 000.0
COGS 3,500.0 3,500.0
Operating Expenses 1,500.0 1,500.0
EBITDA 5, 000.0 5, 000.0
Depreciation 500.0 3, 000.0
EBIT 4,500.0 2,000.0
Interest 0.0 2, 000.0
EBT 4,500.0 0.0
Taxes (@ 35%) 1,575.0 0.0

Net Income 2,925.0 0.0





